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(1) RERZm= AFITHEEEA~T 4
fE M M K i M (%)
X5y £ 4 B A
PRl | PR &M | AEF |RTER FRT | PR | &K | AFF | TR
D EA 37 29 34 10 73 81 78.4 91.9 27.0 65.8 71.1
ff 2HED 37 26 34 7 67 64 70.3 91.9 18.9 60.4 56.1
BZ\EEE’ EHERC 37 26 33 16 75 65 70.3 89.2 43.2 67.6 57.0
AIES 37 27 32 24 83 70 73.0 86.5 64.9 74.8 61.4
_____ ait | wms| 8| 133 57| 28|  2s0| 30| s09| 385 en1| 6L4
R—IL 37 31 33 32 96 78 83.8 89.2 86.5 86.5 68.4
J:t AP RHEA 37 26 32 8 66 70 70.3 86.5 21.6 59.5 61.4
| ?z/:i;: =B 37 26 33 6 65 64 70.3 89.2 16.2 58.6 56.1
%'1 FsE1 37 30 32 18 80 69 81.1 86.5 48.6 72.1 60.5
H FnEE2 37 22 36 22 80 71 59.5 97.3 59.5 72.1 62.3
_____ aE | 18| 35| 1e6| 86| a87|  352| 73.0 87| 465| 69.7| 618
DHEA 37 23 32 7 62 69 62.2 86.5 18.9 55.9 60.5
spe | mHED 0 0 0 0 0 0 0.0 0.0 0.0 0.0 0.0
ISR | pgpne 37 21 32 14 67 82 56.8 86.5 37.8 60.4 71.9
=D 37 28 33 21 82 76 75.7 89.2 56.8 73.9 66.7
_____ aab || we| e a2 en|  eer| eas| sra| 18| e34] 664
fE M M K i M (%)
X5y £ 4 B A
Rl | P | ARt |ETERB FRT | P &I | ARt | BRI
D EA 84 — - 56 56 52 - - 66.7 66.7 61.9
ff HE=EDB 84 - - 43 43 46 - - 51.2 51.2 54.8
BZ%E DHEEC 84 - - 48 48 50 - - 57.1 57.1 59.5
AIE S 84 - - 21 21 29 - - 25.0 25.0 34.5
_____ ait | se| - | - | wes| es| | - | - | s00| s00| 527
R—IL 84 - - 50 50 41 - - 59.5 59.5 48.8
AP RBEA 84 - - 30 30 35 - - 35.7 35.7 41.7
o :/Z/i/;: S ED 84 - - 35 35 38 - - 41.7 41.7 45.2
H FsE1 84 - - 28 28 19 - - 33.3 33.3 22.6
FsE2 84 - - 26 26 30 - - 31.0 31.0 35.7
_____ pa | a0 - | - T i wee|  aes| - | - | 402 02| 388
BHEA 84 56 69 36 161 159 66.7 82.1 42.9 63.9 63.1
spe | mEED 0 0 0 0 0 0 0.0 0.0 0.0 0.0 0.0
ISR | pgene 84 52 68 39 159 148 61.9 81.0 46.4 63.1 58.7
DHED 84 80 82 43 205 172 95.2 97.6 51.2 81.3 68.3
_____ aib | es2| 1ss| 219 us|  ses|  at9| 46| 69| 468 | 94| 634
KRSHEEST 138 | 1,452 503 615 640 | 1,758 | 1,678 72.3 88.4 44.1 61.8 58.3
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(2) RER=fE

DTEEA~TH 5
e N . (D E I G~ ¢ e 0 E (%)
=HE = 4 |BAfEH
SRl 1% & TH] Gt |RIERSY AT 1% K IH] Bat AR
FLR AIE 122 89 71 81 241 219 73.0 58.2 66.4 65.8 59.8
e el el m| st ea| 9| 7so] sz e6a| ess| 598
Biza | M= 122 66 59 86 211 203 54.1 48.4 70.5 57.7 55.5
RE EEE 122 29 54 29 112 93 23.8 44.3 23.8 30.6 25.4
et | eaa| es| ws| us ses| oo sso| 463 ara | aa1| 404
eHEmT F= 121 85 95 91 271 240 70.2 78.5 75.2 74.7 66.1
s [ sl o] o en| 20| 02| 7ss| s2| 47| el
PERA 122 67 89 112 268 218 54.9 73.0 91.8 73.2 59.6
K =B 122 42 57 56 155 131 34.4 46.7 45.9 42.3 35.8
PERC 122 20 38 50 108 110 16.4 31.1 41.0 29.5 30.1
e | ses|  120]  1se] 218 ssi|  aso| 352|503 06| asa|  4Ls
. PERA 122 42 103 72 217 189 34.4 84.4 59.0 59.3 51.6
ZMEK =B 122 47 96 84 227 160 38.5 78.7 68.9 62.0 43.7
ot | aa| so| 199|156 aaa|  sa0| 365] 816 639 60| 47
[UE = 122 43 59 43 145 152 35.2 48.4 35.2 39.6 41.5
e || ws] se| a3 ws| sz ss2| asa| 52| s06| 415
JoHT ZHME]| 122 78 75 86 239 - 63.9 61.5 70.5 65.3 -
e || sl ] sl owe| - | 63.9| 615, 105  653| -
AE 11 | 1,341 608 796 790 | 2,194 | 1,715 45.3 59.4 58.9 54.5 46.9
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(3) ACiifE
DTEEA~TH 5
(D E I G~ ¢ e 0 E (%)
ke | 4 |BIfEA
SRl 1% & TH] Gat [ETERE R 1% R [H] Rt | AR
FisEA 122 79 80 49 208 205 64.8 65.6 40.2 56.8 56.0
Fi==B 122 55 80 50 185 193 45.1 65.6 41.0 50.5 52.7
i Fn=EC 122 93 91 58 242 212 76.2 74.6 47.5 66.1 57.9
F=ED 122 60 53 47 160 139 49.2 43.4 38.5 43.7 38.0
et | oass| ast| soa| 2o 75| rao| sss|  e23| a8 sa3| sL2
FisEA 122 102 107 58 267 218 83.6 87.7 47.5 73.0 59.6
TR
=B 122 49 66 49 164 155 40.2 54.1 40.2 44.8 42.3
et || s s wr asi| s ee] t09] 439 sso| sLo
FEEEA 122 100 92 58 250 268 82.0 75.4 47.5 68.3 73.2
. PEEB 122 104 76 101 281 294 85.2 62.3 82.8 76.8 80.3
) F=A 122 82 72 61 215 230 67.2 59.0 50.0 58.7 62.8
=B 122 67 45 46 158 138 54.9 36.9 37.7 43.2 37.7
e | ass| sss| ass| 2ee ooa| o0 v2s|  ssa| 515 6L7| 635
FisEA 122 111 113 93 317 288 91.0 92.6 76.2 86.6 78.7
R |[Fi=EB 122 56 77 19 152 173 45.9 63.1 15.6 41.5 47.3
R 122 100 92 93 285 266 82.0 75.4 76.2 77.9 72.7
e | ses|  2er| es2| 20 wsa|  wer| 70| 1o se0|  est| 662
AFt 13= | 1,586 1,068 | 1,044 782 | 2,884 2,779 66.7 65.8 49.3 60.6 58.4




(4) AEEDSNHVVEE

ARITEIEA~TH 5y
A % O R (%)

% 4| B

FHT || KW aFt [WeEEm| e | R | R | A MR
= 118 111 82 88 281 257 94.1 69.5 74.6 79.4 72.6
AZVF 118 118 114 117 349 341 100.0 96.6 99.2 98.6 96.3
3= 118 83 88 57 228 189 70.3 74.6 48.3 64.4 53.4
BELE= 118 49 73 40 162 144 41.5 61.9 33.9 45.8 40.7
APE = 118 92 (i 24 193 191 78.0 65.3 20.3 54.5 54.0
= 118 89 95 438 232 216 75.4 80.5 40.7 65.5 61.0
AR 118 74 88 79 241 256 62.7 74.6 66.9 68.1 72.3
Bt 1E 826 616 617 453 1,686 1,594 74.6 4.7 54.8 68.0 64.3
JERa—J—| 118 28 28 25 23.7 23.7 21.2




(5) HFEEI 7 —

BRNTEFEA~TH 53
HHGES) | . i A K e A R (%)

bonen, | E 4 |BAfEH — - — — T — - — — T
Pl T & H ARt |RTERS AT T & H S KR
FEEA 122 87 96 65 248 235 71.3 78.7 53.3 67.8 64.2
2B 122 102 107 82 291 255 83.6 87.7 67.2 79.5 69.7
B [PE=EC 122 84 108 85 277 278 68.9 88.5 69.7 75.7 76.0
ZHI=EA| 122 72 93 64 229 218 59.0 76.2 52.5 62.6 59.6
ZHW=EB| 122 80 95 65 240 215 65.6 77.9 53.3 65.6 58.7
______ git | ewo]|  azs| 499  ser| 1285| 1201| 97| sLs| 592  70.2| 656
AIE= 121 94 82 69 245 195 77.7 67.8 57.0 67.5 53.7
FEEA 121 49 72 66 187 177 40.5 59.5 54.5 51.5 48.8
=B 121 69 121 98 288 287 57.0 | 100.0 81.0 79.3 79.1
RIE [FEZEC 121 40 47 43 130 78 33.1 38.8 35.5 35.8 21.5
ZHMEA| 121 72 80 105 257 255 59.5 66.1 86.8 70.8 70.2
ZHW=EB| 121 93 92 112 297 317 76.9 76.0 92.6 81.8 87.3
ZHM=EC| 121 106 103 119 328 339 87.6 85.1 98.3 90.4 93.4
______ e | sar| s23| ser|  e12z] 72| vness| en7| 705|723 682| 649
FI=A 122 78 92 96 266 271 63.9 75.4 78.7 72.7 74.7
. fI=EB 122 75 90 83 248 224 61.5 73.8 68.0 67.8 61.7
o ZHMEA| 122 104 89 115 308 288 85.2 73.0 94.3 84.2 79.3
2 HW=EB| 122 81 90 116 287 269 66.4 73.8 95.1 78.4 74.1
______ git | ass|  sss|  se1|  410] 1109| 10s2| 93] 40| 810 58| 725
PEEA 122 67 67 53 187 141 54.9 54.9 43.4 51.1 38.8
B |[PE=EB 122 84 87 48 219 179 68.9 71.3 39.3 59.8 49.3
2 HI= 122 78 75 75 228 198 63.9 61.5 61.5 62.3 54.5
______ i | ses| 220|220 17e|  e3a|  sis| 626|626 48| 517|476
FEEA 122 80 106 103 289 218 65.6 86.9 84.4 79.0 59.6
Ll |PE=B 122 69 102 89 260 205 56.6 83.6 73.0 71.0 56.0
2 HI= 122 77 115 114 306 305 63.1 94.3 93.4 83.6 83.3
______ aib | ses| 226  323|  s06| sss| 78| eL7| 883|836 77.9| 663
FEEA 122 65 93 85 243 188 53.3 76.2 69.7 66.4 51.4
M PEEB 122 64 100 93 257 184 52.5 82.0 76.2 70.2 50.3
EZ=L0ES 122 104 119 106 329 306 85.2 97.5 86.9 89.9 83.6
______ it | ses| 233] s12|  284| s20| ews| 67| ss2|  7re 755|617
FEEA 122 94 87 100 281 272 77.0 71.3 82.0 76.8 74.3
. E=EDB 122 100 99 100 299 299 82.0 81.1 82.0 81.7 81.7
e PE=RC 122 78 90 65 233 231 63.9 73.8 53.3 63.7 63.1
FED 122 84 107 88 279 236 68.9 87.7 72.1 76.2 64.5
______ i | ass|  sse|  3s3| s3] 1002| voss| 30| 85| 723 746|709
FIEA 118 66 70 28 164 167 55.9 59.3 23.7 46.3 47.2
=B 118 90 66 46 202 207 76.3 55.9 39.0 57.1 58.5
FEEA 118 60 52 51 163 108 50.8 44.1 43.2 46.0 30.5
BiA =B 118 82 95 68 245 191 69.5 80.5 57.6 69.2 54.0
R—I/LA 118 79 72 100 251 229 66.9 61.0 84.7 70.9 64.7
R—/LB 118 94 67 106 267 265 79.7 56.8 89.8 75.4 74.9
£ HHE 118 53 68 60 181 184 44.9 57.6 50.8 51.1 52.0
______ e | see|  s24]  a90|  459| 1473| 1350 e3.4] 593|556  59.4| 545
aF 36 4,357 2,854 | 3,194 | 2,961 9,009| 8,214 65.5 73.3 68.0 68.9 62.9
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